Aim the upside of the
to the hole,and

M8 HEX CAP NUT
M8 LOCK WASHER
M8 FLAT WASHER
WALL BRACKET

M8 RUBBER WASHER —

@ The Third step

S
T A
The Bolt on top plate in to the
@ The second step e correspanding hole of wall bracket,
then slope the loudspeaker, Move
the screw on bottom plate,circling

@ The Frist step To installation the top plate and

bottom plate,which attached to the the exserted part of wall

Installation the wall bracket on the loudspeaker,by M6 HEX HD Blot b P !

wall racket.Push the loudspeaker from
the side and aim the muddle of
notch, and then pull it to the
appropriate position.
Finally mount gosket an nut,and in
instollation the lockup.

159 |59y
o
o o)
30 450 180 50 E
33 250 3-98.4 B L

350




